RIGOUR

u MNU 3-04a Homework 5 Level v
& &
Outcome 1 Outcome 2
Adding Negatives Subtracting Negatives
o -18 + 27 & -32+48 o 25 - 36 . 43 - 57
< -34 + 52 & -19+82 = 25 - b4 & 32 - 87
= -41 + 62 & -34+32 = 45 - 48 & -24 - 45
4 -b6 + 27 8 -73+25 & -36 - 36 8 -b4 - 35
2 -48 + 32 lag -98+54 8 -28 - 48 g -19-32
Outcome 3 Outcome 4
Multiplying Negatives Dividing Negatives
& -bx(-2) & -8 x (-1) « -20+(-2) & -30+(-6)
= -3x(-6) & -4x(-9) = -16 + (-8) & -32+(-4)
& -8x(-3) 8 -6 x (-4) & -7+(-7) & -64+(-8)
& -7x(-2) B -6 x (-7) % -4 = (-6) 8 -90-:(9)
8 9x(9) &8  8x(7) 8 -21+(-3) 48 -72+(-8)
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